Lﬁw__"‘*_\_‘if‘ Lenls Gool
Micthchenks - Fomenko
' S’J\J fou =Owme \oi ki o \r’ch

Problem 1.5, Suppose, X is a metric space. Then Y C X is open iff (if and only if) Class

X\ Y is closed. In {ct@ &T\\ S W \mwe
) e
- 'L\V Proved

& X\\(:X\‘{
why + Tore Tk Y, 5o 3 BB Y
X \s het mm w“u.VOW\O. loow‘k u% X\Y
3C¢ X\Y \.-e, 3C€><\@\)
Convens, JQ# ><\\( @ }Bi(x)
Bs &) N\ X\‘( 75 o € It Y,

(lass Probler 114 Find a 11 i t11 1
metric (t} called: topc l

space (X, 7), which is not related to

. A&svk; {;25 X \)(a'é)-c»o

— AACAGY
’( : 3 2 T= {;5 X\_{'ﬂl—%ﬁ{ 2 ’au‘z';l. le

(o el ={5.X,1¢}
S ARG T
ANt R VR TN

Nonv- Hawm s AOV(%




Class Problem 1.28. Let I \ % Rl quence of cr_)utinuous functions, which is uniformly
rergent on X to some f Tl n f is

X R X—aR ﬁ‘—} £

VEYD F n, st forony 0 Z ho}(
u)

x) - £() |
3Cf;\;f\\:;ﬂ() 2 l<e,

VIDQX _\71_8_70 3 anxo
£0) C (465, { &) +e)

Use U with 3/3 -7

® JL) <€
sup ) g 6> — —e U< Y 3 )

3 Uy ()=U, st
2 () € (G- (4)
:Fn (X)"’" %)
¥xeU, N8 - :F&)\w Z

We have \,€(,g)__ (%o ), e
-\ £ (DQ £ + £, )= 1,60
+£h~ (XB ‘( (54-3 ’
< £ =t O\ | fL (A\ £ G|+
+ \hm bl 275 o+
—-i

Class Problem 1.31. Give an example of a continuous bijection, which is not a homeomorphism.
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Problem 1.47. Find an example of connected space, which is not arc-connected.
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